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FIND RISE FOR GIVEN INTAKE MANIFOLD PRESSURE:

PRESSURE RATIO RAISED TO THE POWER OF .283-1

THIS IS THE Y FACTOR.

Y TIMES THE TEMPERATURE IN DEGREES RENKIN GIVES YOU THE TEMP RISE AT 100% EFFICIENCY.

DIVIDE THE 100% BY THE EFFICIENCY OF THE COMPRESSOR TO GET THE ACTUAL TEMP RISE.

EXAMPLE:

FIND FOR Pr 2  (IN HOT RODDER SPEAK 14.7 LBS.)

2 TO THE POWER OF .283 = 1.216

MINUS 1 = .216

TEMP R AT 70 F AMBIENT = 460+70=530

530X.216=114 TEMP RISE AT 100%

FOR ROOTS DIVIDE BY .5=228 TEMP RISE (PROBABLY CLOSER TO .4 AT Pr 2)

ADD 70 FOR AMB=298 INTAKE TEMP

FOR AXIAL FLOW:

114 OVER .85=134 TEMP RISE

70+134=204

FULLY 94 DEGREES LESS. HOW MUCH WOULD AN INTERCOOLER TAKE OUT?

IF YOU HAVE 50% EFFICIENCY COOLER, WHICH WOULD BE A VERY BIG AND IMPRACTICAL UNIT, YOU CAN FIGURE:

AT 298 WITH 70 OUTSIDE GIVES 228 DELTA

50% OF 228=114 REDUCTION

ADD BACK THE FRICTION TO PUT THE AIR THROUGH THE COOLER (NOTHING IS FREE) AND YOU PROBABLY HAVE THE SAME TEMP AS THE AXIAL FLOW WITHOUT THE COOLER

REMEMBER THAT THE INTERCOOLER DOES NOT ADD ANY MORE AIR, REGARDLESS OF WHAT SOME PEOPLE SAY. WHAT COMES OUT OF THE BLOWER IS ALL YOU GET. QUANTIFY THIS BY MASS (OR WEIGHT), IT NEVER CHANGES. COOL IT, THE PRESSURE GOES DOWN BUT THE MASS STAYS THE SAME. CONVERSELY IF YOU HEAT IT, THE PRESSURE GOES UP BUT THE MASS STAYS THE SAME.

